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Intro to Subnetting 
Group Exercise
Note: Using the calculator in not permitted in any of the following exercises.

1. Convert the following IP address from dotted decimal notation to binary:

165.20.117.254

165:

20:

117:

254:

2. Convert the following binary numbers to decimal:

00000000:

10000000:

11000000:

11100000:

11110000:

11111000:

11111100:

11111110:

11111111:

3. Identify the network class of each one of the following addresses:

100.10.10.10:

152.50.100.25:

220.110.60.30:

4. Identify the number of network bits and the number of host bits in each one of the following addresses:

	Address
	Number of Network Bits
	Number of Host Bits

	7.50.25.1
	
	

	130.65.30.1
	
	

	211.11.22.1
	
	


5. Indicate in which one of the following  a router in needed for the source to be able to communicate with the destination:
	Source IP Address
	Destination IP Address
	Router Needed (Yes/NO)

	195.10.10.5
	195.10.10.10
	

	200.200.200.1
	200.200.199.1
	

	10.100.50.25
	10.200.100.50
	

	172.16.100.1
	172.15.100.1
	


